res

ey
onstant 0
ear =0,

TIeS

€; -0.4796
& Bey
onstant 0 4
ean =0,
\gma

-10-8 =6 -4 =2 0 2 4 6 810

[ pull of goverp parameter |

& Bev 0.03
] onstant L
10 b
F ) rnes - -
- e, 0L
Ranat 00 2
I \gma . - 1

08 8T 56 A6 810

,:OWD'QWIWb
—— pixelLessOrig?DQMfmodfMS

[ pull of @parameter |

107}

1072

1086420246810

[ pull of dxy parameter

TIes —
10k P 16’3551%‘(11 8% E
; nes - —
B E)nslam %%%%%%
10*2 -------------------------

[ pull of 6 parameter |

te”ezv 0.05
_ onstant 3
10 ¢ G
F nes 0o
r onslam 00 5

1072

1073

10

086 4 3 0 2 4 6 § 10

[ pull of dz parameter

1daBev

onstant %
ik (K Rte

8

1dma. ks

107}

1072

086420246810

|
P



	Contents
	Page 1


